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BRIEEAMIF L
plot(hakusan[,c(1,3)],main="")

hist(hakusan[,1],main="AMAAEE" col="#539952")
hist(hakusan[,3],main="f&#Z" breaks=seq(-6,12,1.2), col="#3394FF")
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Vo & Yo, OFIHE(k=2,4)

y <- hakusan[,1] z<- hakusanl,3]
plot(y,lag(y,k=2),pch=19,col="#539952" ylab="y(n-2)" xlab="y(n)")
plot(z,lag(z,k=2),pch=19,col="#539952" ylab="y(n-2)" xlab="y(n)")
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x <- hakusanl[,3]
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FFT (Fast Fourier Transform)

(BENICIIEEOER#B@EHLIFETE S)
N=p ors sEE8 N°—> Np/

Np/t  p/t

N ° N
N —1024 =10 2x10 1
1024 50
N = 4006 = o1z 2xte 1
4096 170

7z72L CDEHEIZON)BE

RRREFE  AC)IREER BEBFIEVIL (BFRTIAENT)

64



FFTICL BBV F K4S Z LDOHE

2ﬂ|(n 1) ]

L
o

N
COS (2”(” 1“) iz y . Sin (2”(',1[1“)
n=1

= j—IFSj

2
—27i(n-1) j/N

- %(FC 2 4FS ?)

RRREFE  AC)IREER BEBFIEVIL (BFRTIAENT) 65



F—%, HHEEY, CUFFS5 LOBR

y*y 2

C, HEABECHIHEH

wny Yh

F F

Z(f) ——— p(f) euxrs5.

|Zf

RRREFE  AC)IREER BEBFIEVIL (BFRTIAENT) 66



VS FTZ7LEFFT

Il
o

n N-1
p(f)=C,+2> C, cos(2zkf) f
k=1

Z‘H
ZWN
N

P :%(FCJ‘Z“LFSJ'Z)

NA 2¥ThH L & Z

e N = plklx---x pﬁlm

e {y,, ¥y, 0,0 L TC2OR S DRI % {E-> TFFT
P(f) cALEHBES>NS

Tof2 L, BREN T = ICBRESI NS ZEITEER

Jd
N

HRAZE  dt)IRIEER MIEBFEVI (BFRTERT) 67



@) 2>DcosBAk+./ 4 X

# simulation of 2 cosine function + noise
t <-1:400

r <- rnorm(400)

y <- rep(0,400)

for iint) {

y[il <- cos(2*pi*i/10) + cos(2*pi*i/4) + r[i]*0.1_ |
}

y <- as.ts(y)
plot(y)
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